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e) 73 f) 40000
a) i) 1000 ii) 2000

iii) 4000 iv) 8000
b) i) 1000 x 2*=16000 ii) 1000 x 2°= 64 000

iii) 1000 x 2° = 512 000
iv) 1000 x 22 =4 096 000

6 different answers:

£ -(2x3) +11=-1221; (4 - 2) x3* + 11 =5033;

@ -2x3)*+11=11316507

F-2x3+11)=-109; £ -2 x 3*+ 11) =-120;

£-2x3)’t+11=-87

The student incorrectly applied the exponent law when
the bases. (—2) and 2. are not the same. Also. -9 = (-3)

1s 3, not —3. Correction:
(2 x 2 -3+ () + (4
=4x8-9+(-3)+16
=32-(-3)+16

=35+16

=51

a) 57=78125 b)
c) 3°=729 d)

(-2°=-32
-10*=-10 000
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